GOODRIDE.

GOODRIDE presents 2 FIILSV 7 IILFvLP2021 V)—XRAVk So¥25

VNIRRT UE—15AR)—RI5R T—=ToH5X
B4 |KS5478—%  |Rd.1|Rd.2|Rd.3|Rd.4| GRP|#=++= |ToTAL [Behind B4R |KS5473—%  |Rd.1|Rd.2|Rd.3|[Rd.4 | GRP |+ |[ToTAL [Behind
1B #= 13| 17 30 1(& F05h 10| 7 17
2247 EXK 17| 9 26 -4 2|/l BRE 7| 4 11 -6
i = - |13 13 -17 3|t K&t -] 10 10| -7
4|88 %I 6 | 4 10| -20 4 0 -17
58I BA 9| - 9 -21 5 o | -17
6| RE B Frs| 6 6 | -24 6 o | -17
UL RS 4| - 4| -26 7 o | -17
B|IUA FEZE Frs| 0 0| -30 8 0| -17
9 0| -30
10 0| -30
11 o | -30 S2000T7 A DS R
12 0 -30 B4 K54 /8—4  |Rd.1|Rd.2|Rd.3|Rd.4 | GRP|#s+— |toTAL | Behind
1[/hiE FX 20 | 15 175 525
2|t v 15 | 20 175 525 0
F—/A—16 XK J—FNAYS X 3|IUAR sk 717 7 21| -315
JE# [KS4/8—4%  [Rd.1|Rd.2|Rd.3|Rd.4 | GRP|s»—+= |toTaL Behind 4|FEE At 4|10 7 21| -315
= 20 | 20 40 5|1t ER 10| 2 6 18 | -345
2|B3IL FRsA 10| 10 10 30 | -10 6|ILT ={E 5|5 5 15 | -375
3|/IhR BB 15] 0 15 225| -175 1RE B 3| 4 35 105| -42
4|ARE A 5|15 20| -20 8|#kA ZRIA 2|1 15 45| -48
5(iniE TTEE 2| 4 3 9 -31 9|l & 16nA| 3 15 45| -48
65K 1#= 7 | Frs 7| -33 10/ F H 1] 1 1 3 | -495
7|REA E—EF | - | 7 7 -33 10|FSFEH 11 1 3 | -495
8|FHH 18— Frs| 5 5 | -35 102K ® 1] 1 1 3 | -495
9|FH K& 410 4 | -36 10|FK @A 1] 1 1 3 | -495
10/llt &R 01| 2 1 3| -37 14|FSH 7 0 |Frs 0 0 | -525
1M{#HE a=7|s2]| 3 3 -37 14(#E a=7| 0 |c15 0 0 | -525
12|E@ B—H | 3| - 3| -37 16 0 | -525
13|AAE ={E 1] - 1 -39
13|RiTH =& 1] - 1 -39
15| K% EE Frs| O 0| -40
A—N\—16 R )—F2—RITR
IERL [KS54/3—% |Rd.1|Rd.2|Rd.3|Rd.4 | GRP[#+—= |ToTAL |Behind
1|8 —# 7| - 35 105
EAIN S 10 | s2 10| -05
3 0| -105
4 0| -105
5 0| -105
6 0| -105
7 0| -105
8 0| -105
9 0| -105
10 0| -105

»$GRP (GOODRIEAA YIS TBMEh 1= DHRHIR—F ZRAH)



